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2019
Part-III
SOCIOLOGY
(Honours)
I;APER—VII
Full Marks : 90
Time : 4 Hours

The ﬁgﬁres in the right-hand margin indicate full marks.

¢andidates are required to give their answers in their

own words as far as practicable.

Group—A

Answer any two questions. 2x15

1. What do you mean by social research ? What are the
|

different stages of social research ? 5+10

2. Define survey research. Discuss various types of survey.

‘ 5+10
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3. What is sampling ? Point out the characteristics of a good
sample. Indicate the importance of sampling in social
3+5+7

research.

4, Write a note on different scales of measurement in social

research.

15

5. Examine the importance of graphical representation of
data. Represent the following data in an appropriate
diagram :

Year
1990
1995
2000
2005
2010
2015

Boys
265
320
350
360
575
600

110
200
290

Number of boys and girls in a college
Girls

325

500
575

5

7+8

6. What are the advantages of arithmatic mean ? Find the
arithmetic mean and median for the following data :

51-55
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Class 31-35| 36-40 | 41-45 | 46-50 56-60 | 61-65| 66-70
No. of 14 26 46 4 40| 33 21 10
persons
5+5+5
{Continued)



Group—B

i Answer any five questions. 5x8

Calculate quartile deviation from the following :

Class . 20-25 | 25-30 | 30-35 | 3540 | 4045 | 45-50 | 50-60 60-70
terval ’

Frequency| 4 12 6 | 2 10 8 6 | 4

Compute the standard deviation from the following
distribution of marks of students :

[Macks |10-19] 20-29 | 30-39| 40-49 | 50-59 | 60-69 | 70-79 | 80-90 | 90-99

"y of 3 7 10 | 16 20 14 10 6 4
.1dent|s1 '
9. What are the advantages and disadvantages of

10.
11.
12.
13.

14,

questionnaire ?
i :
Discuss the relationship between theory and research.

\A{hat are the different type of hypothesis ?

Discuss any two techniques of probability sampling.

What are the methods of data collection in field research ?
i 5 ¥

| .
What is discrete and continuous variables ?
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15.

16.

17.

18.

19,

20.

21,

22.

23.

24,

25.

26.

Discuss the characteristics of usable hypothesis.

What are the general componants of survey research.

Group—C

Answer any five questions. _ 5x4
What do you mean by hypoth.esis. ?
Distinguish between methpdology and method.
What is participa_nt observation ?
What is Histogram ?
What is population and sample ?
Distinguish between _questionnaire and schedule.
What do you mean by purposive sampling ? Gi_ve example,

Distinguish between qualitative and quantitative
research.

What do you mean by longitudinal reséarch

What is descriptive statistics ?
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